
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multiplikation von Polynomen

(7 + 9x)(8x + 2) (2x − 2x − 2)(8x + 8)2

(9x + 7)(x + 7x + 7)2 (x − 2x − 2)(2x + 3)2

(9 + 4x)(6x − 1) (2x + 7x + 7)(7x + 1)2

(4x − 5)(6x + 5)2 (9 + 2x)(4x − 4)

(8 + x)(3x + 8) (4 − 3x)(3x − 8)
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multiplikation von Polynomen

(7 + 9x)(8x + 2)

72x + 74x + 142

(2x − 2x − 2)(8x + 8)2

16x − 32x − 163

(9x + 7)(x + 7x + 7)2

9x + 70x + 112x + 493 2

(x − 2x − 2)(2x + 3)2

2x − x − 10x − 63 2

(9 + 4x)(6x − 1)

24x + 50x − 92

(2x + 7x + 7)(7x + 1)2

14x + 51x + 56x + 73 2

(4x − 5)(6x + 5)2

24x + 20x − 30x − 253 2

(9 + 2x)(4x − 4)

8x + 28x − 362

(8 + x)(3x + 8)

3x + 32x + 642

(4 − 3x)(3x − 8)

−9x + 36x − 322

www.snowmath.com

https://www.snowmath.com

